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Wt 4, 396 528, 076
1 |4 = (TNN) % & (HKG) 8 856
2 |+ L (TTT) 2 7 (NKG) 2 1,418
3 |% 4 (TPE) = L (SYX) 8 1,433
4 |+ # (TPE) A CE RO PVE) 122 754
5 |% 4 (TPE) + R (KIX) 140 1,712
6 |%4 (TPE) + i (KIX) B K (JFK) 6 12, 884
T |% 4 (TPE) ~ 13 (DLC) 12 1, 540
8 |% 4 (TPE) /]~ (KMQ) 14 1, 241
9 |44 (TPE) % 2 (TSN) 4 1,608
10 |4 # (TPE) = & (TYN) 6 1,637
11 |% 4 (TPE) = % (CDG) 8 9,810
12 |4 # (TPE) in 5 (SDJ) 4 2,345
13 |% 4 (TPE) # = (PEK) 58 1,723
14 |% # (TPE) # 22 A(BNE) | # 5 7 (AKL) 9,037
15 |% 4 (TPE) # 2 #74& (BNE) 6, 754
16 |£ # (TPE) L (CTS) 32 2,776
17 |4 # (TPE) = 5 (ISG) 8 402
18 |4 # (TPE) £ 73 (SIW) 12 1,970
19 |4 # (TPE) & % (HFE) 12 1,097
20 |% # (TPE) + 12 8 (KUL) 94 3,196
21 |4 (TPE) t+ & (NGO) 36 1,877
22 |% # (TPE) 54 % (YYZ) 6 12,022
23 |+ # (TPE) = % (CTU) 16 1, 806
24 |% # (TPE) | (AKT) 8 2, 897
25 |% # (TPE) % (XIY) 16 1,593
26 |% # (TPE) & 2 B (SEA) 10 9, 749
27 |% # (TPE) & & (XNN) 2 3, 324
28 |% # (TPE) I #e (BKI) 30 2,225
29 |% # (TPE) 42 (HKD) 12 2, 651
30 |£ # (TPE) vt {oid 2 (HET) 10 1, 966
31 |% # (TPE) B L (OKJ) 4 1,595
32 |4 (TPE) 4 7 (ROR) 20 2, 665
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33 |4 # (TPE) £ (KMG) 12 1,968
34 |4 # (TPE) - (HGH) 30 735
35 |4 # (TPE) % % (% 9 )(NRT) 140 2,189
36 |4 # (TPE) L & (%9 )(NRT) [ /& 4 &=(DTW) 14 12, 365
37 |4 # (TPE) L & (%9 )(NRT) (&4 L (HNL) 14 8, 327
38 |4 # (TPE) 7% (WUH) 10 916
39 |4 # (TPE) @ (HAN) 44 1,829
40 |4 # (TPE) i i 7. 4% (FRA) 10 9, 382
41 |4 # (TPE) 7 -k (SUB) 4 3, 727
42 |4 # (TPE) 4 i (PNH) 20 2,292
43 |4 # (TPE) £ 5 (CSX) 24 1,243
44 |4 # (TPE) £ % (06Q) 6 2,776
45 |4 # (TPE) £t (KLO) 8 1,492
46 |4 # (TPE) Fo e B2 (AMS) 14 11, 746
A7 |4 # (TPE) # & (TAO) 16 1,234
48 | % # (TPE) % # (NKG) 28 808
49 |4 # (TPE) % & (KHN) 12 673
50 |4 # (TPE) % % (NNG) 8 1,536
51 |4 # (TPE) ¥ f: 7% (HRB) 12 1,903
52 |4 # (TPE) % 7 (WEH) 2 1,321
53 |4 # (TPE) #2 & (DPS) 24 3,811
54 |4 # (TPE) A (TIN) 6 976
55 |4 # (TPE) it 452 (LAX) 60 10, 923
56 |4 # (TPE) # 2P (SGN) 62 2,215
57 |4 # (TPE) £ & (CKG) 14 1,549
58 |4 # (TPE) H (=) (N 118 1,472
59 |4 # (TPE) % # (HKG) 572 817
60 |4 # (TPE) % % (HKG) % % & (HKT) 14 3, 800
61 |4 # (TPE) % # (HKG) 5¢ 4v 1% (CGK) 20 4, 050
62 |4 # (TPE) 7 4 (KMD) 4 1, 252
63 |4 # (TPE) th 0 (XUZ) 10 1,275
64 |4 # (TPE) R (KWL) 16 1,112
65 |4 # (TPE) # v (HAK) 16 1, 264
66 |4 # (TPE) 4 3 f (HLD) 4 2,614
67 |4 # (TPE) % &+ (URC) 10 3,721
68 |4 # (TPE) 3% (0KA) 58 734
69 |4 # (TPE) & 9 (JFK) 10 12, 534
70 |4 # (TPE) % 1 (PUS) 36 1,403
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71 |4 # (TPE) 5 £ £ (MNL) 68 1,175
72 |% 2 (TPE) % +>(TAK) 1, 606
73 |4 # (TPE) *+ & (0BO) 3,007
74 |4 # (TPE) 3£ 75 (DYG) 12 1, 485
75 |4 # (TPE) £ % (BKK) 82 2, 545
76 |4 2 (TPE) § % (BKK) Fo b a2 (ANS) 20 11,678
77 |4 # (TPE) § % (BKK) % 3 (LON) 14 12, 028
78 |4 # (TPE) £ % (BKK) s 3 (VIE) 8 10, 927
79 |4 # (TPE) EF(SZX) 48 732
80 |4 # (TPE) i#8 (CNX) 8 2,398
81 |4 # (TPE) &' (KUH) 2 3, 041
82 |4 # (TPE) Z 44 (SYD) ® 5 (AKL) 8 9, 424
83 |4 # (TPE) A2 & (KOD) 8 1,191
84 |4 # (TPE) % L (TOY) 4 1,989
85 |4 # (TPE) # & & (HKT) 4 3,071
86 |4 # (TPE) £ 47 (WUX) 28 733
87 |4 # (TPE) % 1 (KWE) 12 1, 642
88 |4 # (TPE) 52 40 3¢ (OGK) 42 3, 870
89 |4 # (TPE) F L (TXN) 6 600
90 |4 # (TPE) B P (XMN) 28 647
91 |4 # (TPE) 3740 3 (SIN) 126 3,331
92 |4& 2 (TPE) F74e 3 (SIN) v -k (SUB) 14 4, 601
93 |4& 2 (TPE) #74e 3 (SIN) Z 44 (SYD) 14 10, 479
94 |4 2 (TPE) R KID) 2,189
95 |4 # (TPE) 8 (WNZ) 328
96 |& 2 (TPE) B8 ENWR) 20 9, 600
97 |4 # (TPE) £ 4 (YNT) 10 1,381
98 |4 # (TPE) % i (NGB) 26 531
99 |4 # (TPE) i& 4 (FOC) 18 848
100 |4 # (TPE) i@ b (FUK) 42 1, 296
101 |4 # (TPE) s 3 (VIE) 4 8, 985
102 |4 # (TPE) #1 (INC) 4 2,420
103 |4 # (TPE) B - (CAN) 36 837
104 |4 # (TPE) B & (HID) 14 1,532
105 |4 # (TPE) 4t 2 (DEL) 2 4,377
106 |4 # (TPE) # 2 (DEL) % 5 (FCO) 4 10, 322
107 |4 # (TPE) g (C60) 18 1, 304
108 |4 # (TPE) B (MFMD) 154 956
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109 |4 # (TPE) #m (FSZ) 8 2, 242
110 |4 # (TPE) 184 L (HNL) 10 6,613
111 | % # (TPE) A (CIU) 16 1,276
112 |4 # (TPE) A (TNA) 14 1, 352
113 |4 # (TPE) # ¥ (PEN) 8 3,130
114 |4 # (TPE) %1 (SHE) 22 1,689
115 |4 # (TPE) # & L (SFO) 38 10, 396
116 |4 4 (TPE) B & (GUM) 8 2,753
117 |4 # (TPE) Mz (LIG) 6 2,121
118 |4 # (TPE) ' (LHW) 6 2,756
119 |4 # (TPE) # 35 (YNZ) 10 1,348
120 |4 # (RMQ) Fis G A (PYG) 6 1,070
121 |4 # (RMQ) + R (KIX) 10 1,829
122 |4 ¢ (RMQ) % 2 (TSN) 2 1,690
123 |4 # (RMQ) % %8 (CTU) 2 2,205
124 |4 7 (RMQ) 4 (HGH) 6 636
125 |4 # (RMQ) 7% (WUH) 2 1,791
126 |4 ¢ (RMQ) £ ) (CSX) 4 1,221
127 |4 7 (RMQ) £ % (CGQ) 2 2, 850
128 |4 @ (RMQ) & # (NKG) 4 1,062
129 |4 # (RMQ) % & (CKG) 2 1,537
130 |% # (RMQ) # # (HGH) 84 719
131 |4 # (RMQ) 723k (0KA) 4 815
132 |% 7 (RMQ) EP(SZX) 4 711
133 |4 ¥ (RMQ) (XN 6 821
134 |4 ¢ (RMQ) % (NGB) 8 653
135 |4 @ (RMQ) is -+ (FOC) 4 570
136 |4 ¢ (RMQ) #:1 (CG0) 2 1,838
137 |% 7 (RMQ) e (TNA) 9 1,427
138 [#7+4c 5 (SIN) 4 # (TPE) < g (KIX) 28 4,916
139 | % z2(KHH) s GF 1) (PVG) 32 1,059
140 | % z&(KHH) * R (KIX) 10 1,958
141 |® 2 (KHH) =% 2 (TSN) 9 1,157
142 |% z2(KHH) # 7 (PEK) 2 1,971
143 | % z=(KHH) & 5 (HFE) 2 1,633
144 | % z&(KHH) = R (CTU) 4 2,198
145 | % z2(KHH) . (KMG) 4 1, 800
146 | % z&(KHH) ! (HGH) 10 863
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147 | % z2(KHH) i 2 (27 )(NRT) 32 2,104
148 | 2= (KHH) #:3 (WUH) 12 1,376
149 | 2= (KHH) @ i (HAN) 14 1,503
150 |® 2= (KHH) £ 75 (CSX) 1,185
151 | % 2 (KHH) 7 & (TAO) 1,505
152 | 2= (KHH) 2 # (NNG) 1, 391
153 | ® 2= (KHH) # &/ (SGN) 26 2,079
154 | % 2= (KHH) £ A& (CKG) 4 1,595
155 | 2 (KHH) 7 F (=) CN) 24 1, 839
156 |® 2= (KHH) 4 & (HKG) 194 650
157 | % 2= (KHH) R (KWL 6 658
158 | 2= (KHH) 7 v (HAK) 4 1, 250
159 |# 2= (KHH) % L (PUS) 8 1, 640
160 |® 2= (KHH) 5 R 4 (MNL) 8 896
161 |® 2= (KHH) § % (BKK) 8 2,294
162 | z=(KHH) =¥ (SZX) 4 672
163 | % z&(KHH) # 1 (KWE) 2 1, 697
164 |# z2(KHH) & P (XMN) 12 619
165 |% z&(KHH) F74e 8 (SIN) 4 2, 940
166 | z=(KHH) % 4 (NGB) 4 1,127
167 |% z&(KHH) As ! (FOC) 10 1,149
168 | z=(KHH) B ' (CAN) 4 726
169 |% ze(KHH) a1 -4 (CGO) 4 1,502
170 | % 2 (KHH) 2 P (MFM) 68 767
171 |3 2= (KHH) s (TNA) 1,594
172 |5 = (MZG) 7% (WUH) 1, 836
173 |4 % (HKG) % 2 (TPE) < IR (KIX) 14 2,524
174 |4 % (HKG) 4 # (TPE) ¢+ & (NGO) 14 2, 664
175 |4 i# (HKG) 4 2 (TPE) £ 7 (23 )(NRT) 14 2,958
176 |4 % (HKG) 4 2 (TPE) % f (i ")) 14 2,277
177 | % # (HKG) 4 2 (TPE) A& b (FUK) 14 2, 084
178 |# # (i= " )(ICN) | 4 # (TPE) & # (BKK) 14 3, 986
179 | =& (HUN) = 2 (TSN) 2,137
180 | =& (HUN) o (HGH) 1, 056
181 | =& (HUN) #:3 (WUH) 1,780
182 |+ (TSA) 4 (34 ) (SHA) 56 742
183 |4 (TSA) +a G L) PVG) 20 818
184 |41 (TSA) % 2 (TSN) 8 1, 845
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185 [¥~4:(TSA) = & (TYN) 6 2,105
186 |+>.L(TSA) & 5 (HFE) 2 1,323
187 |+>4:(TSA) = 38 (CTU) 8 2, 335
188 |+ (TSA) o (HGH) 8 953
189 |+ (TSA) & 7 (33 9 )(HND) 112 2,140
190 |> L (TSA) # 7% (WUH) 4 1, 700
191 [+ (TSA) = % (NNG) 2 1, 549
192 |+ L (TSA) = & (CKG) 8 2,181
193 |+ (TSA) B C&F)GMP) 28 1,490
194 |+> L (TSA) & F* (XMN) 20 952
195 |41 (TSA) & (WNZ) 6 628
196 |+> L (TSA) A&+ (FOC) 20 826
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